H & 0l & AHS B Ml A

SA TAIHED
I TAZeIE & N (S ELXSINL/XALEAI)
R EAIZEIAHE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
A= 6,403,970 6.476,4% AT2,526
= 22,162
Al 6,381,808
SAZE|HE L N (FELXGNL/RHLEAI) 6,321,415 6,382,771 61,356
= 22,162
Al 6,299,253
CAIZe[HE 76,770 229,730 152,960
AR 22 29 72,540 74,580 A2,040
201 Ler23 | 61,340 61,340 0
01 At2t2ltl 45,340 45,340 0
&ot==H| 19,980
o AAHEZE M2 i
18,480,000& 18,480
CTAIHESRG ARSE D
1,500,000& 1,500
O=2g8=+d 25,360
ST ANERZE (SAIHE, N, 2SS
23l) 25,360
=t ) 100,0002 x 152 %162 24,000
— 04| 85,0002 x1& x 162 1,360
2 S5=2g4l 16,000 16,000 0
OAlZ &I Xl 16,000
ST AAEZEEHA(PIS) AX L NH KX
2 16,000,000& 16,000
202 04| 5,800 7,840 2,040
01 2L A 5,800 7,840 A2,040
OFAHE ge=N
20,0002 %22 #53] * 122 2,400
OSAHERS BA(E - 5Y)
85,0002 4 x102] 3,400
203 HR=H| 5,400 5,400
03 A= PR FAI| 5,400 5,400
OHEWE gFFA 5,400,000 12 5,400
A ZEAS 4,230 5,180 A920
202 04| 4,230 5,180 2920
01 2K 4,230 5,180 A920
OMEDNZAIY D 9 s o
20,0002« 1 73| x 122 1,680
O=0t - ErAAER] XIFE(HE)3FA(E
) 85,0003 2 *x32x32] 1,530
O=Jheteh HFEA 2 gRE2 € 39
(L - 3Y) 85,0002 x2EH *x2 2 +33] 1,020
SADRE AFEFE 81,400 47,292 34,108
S XS LA 78,500 44,392 34,108
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S ZSAAE D
HE: CARINE U NS (BELXAHL/XHLEA)
ool SAIZE 2l o
SA - B BRA(SH) - HRA - of v e HIDE2
O=a2Y Hat o =5 S 32
80,000,000& %99. 1% 79,280
03 Al 2Tl 720 432 288
TASY BE Y =5 S BV Bl
80,000,000 0. %% 720
3 DAl eryiel Zd A 150,000 150,000
401 A2 HIZL 201 150,000 150,000
01 Al&HI 148,920 148,920
O Ul eryel =4
150,000,000 *99.28% 148,920
03 Al 2 HHI 1,080 1,080 0
Oetd LA eryel &4
150,000, 0002 *0.72% 1,080
AESAL F=H 2 FHIAY 20,000 0 20,000
401 Al HIZ S 0HbI 20,000 0 20,000
01 AlZ8| 19,784 19,784
OUSAt =81 SZEH| At
20,000,000 *98.92% 19,784
03 Al 20HHI 216 0 216
OYSA =8 2B EH| At
20,000, 0002 *1.08% 216
FENH D F=H 2 JHIAIY 20,000 20,000
401 AIZHIZ S 20,000 0 20,000
01 A28l 19,784 19,784
OFg01 =¢ &3 FHIAL
20,000,000 *98.92% 19,784
03 Al 20HHI 216 0 216
ORg0 1 =4 & ZHIAY
20,000,000 *1.08% 216
Neta zletd 288 €XR 5,827,375 5,620,439 206,936
= 22,162
Al 5,805,213
& ZHAE =A B 505,000 495,000 10,000
201 Let2 ] 210,000 200,000 0,000
® 2=2%H| 210,000 200,000 10,000
OB2R2 2 HAl 200,000
oHBEY BT
200,000,000& x14] 200,000
OAlE &I Xl 10,000
oF2XY HE T2Y RA2A
10,000,000& * 14! 10,000
206 M=l 95,000 95,000
01 MHZHI 95,000 95,000
OZ2xd 20 7Y 95,000
©| EDBar 300,000 x250HK 75,000




A SAIHE D
A CAZEIHE U OHL(RELT AL/ X HLTAI)
o9l HEA HEY XYS 43 (crel: g)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
oHEEY 20,000,000& * 14| 20,000
401 AlEHIZ S 0HbI 200,000 200,000
01 AlZH| 198,560 198,560
Ogd2xg FXAel B+
200,000,000 *99.28% 198,560
03 Al = THHI 1,440 1,440 0
OZBEY |Vl 24
200,000,000 *0.72% 1,440
2 XES |X2e 1,530,428 1,530,428 0
201 L2 1,435,428 1,435,428
01 AtR22telbl 30,480 30,480
oget2dl 30,480
oXBES MIIMMEH =2 28,080
- N 54,0003 52000 2~ 28,080
ofJ|gtdae] HEs2
200,000& x1JH A+ 128 2,400
02 S3=24l 1,404,948 1,404,948 0
O332= % HAl 1,404,948
o 2XAHEE MRS
6,5002 17,6665+ 122 1,377,948
oL Z2XES SHKS
3,000& #7500 A+ 128 27,000
206 =4I 95,000 95,000
01 M=4l 95,000 95,000
Okzxds |RX2A2E I 2 75,000
SV 5,000,000 =4CH 20,000
SGP 1,700,000 *20CH 34,000
oHEI2 50,0002 +200CH 10,000
osSF 1,100,000 * 10CH 11,000
OLets sAZelg M +¢ 20,000
oS+ 400,000 *20CH 8,000
oFZ)| 100,000 *20CH 2,000
osSF 500,000 »20CH 10,000
== ¥ 0F XEs FH| 750,000 830,000 280,000
201 L2 20,000 20,000 0
02 S3=4gl 20,000 20,000 0
OAEZHIR X 20,000
CIIZS AMEE el AAE |2t
20,000,000& *14] 20,000
401 Al HIZL S 0HYI 730,000 810,000 80,000
01 A&l 724,744 804,168 NT9,424
OkE2xEs Rl E
210,000,000 #99. 28% 208,488




EA: SAIHE D
M TAIZ2HE L OHEH(ZEL XML/ XSELTAl)
o9l HEA HEY XYS 43 (crel: g)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
OokL: &2 =¥ S| WA
320,000,000 *99. 28% 317,696
OLZ JIZ2ExF DM
200,000,000 %99, 28% 198,560
03 AlE 2 0HHI 5,256 5,832 A576
OFEZXHE R B
210,000, 000& *0.72% 1,512
OokL: &2 =¥ S| WA
320,000,000 *0.72% 2,304
OLZ JIZ2ExF LM
200,000,000 *0.72% 1,440
TS OHEEZ FRENA FHIAI 150,000 200,000 250,000
401 Al&HIZ S 0HE] 150,000 200,000 50,000
01 Al 148,920 198,560 A49,640
OE2ZS oEE 2xE Ha Hb|
150,000, 000& *99.28% 148,920
03 Al&SCHY| 1,080 1,440 360
OSRZYS OHEEZ 2LNE 4 HY)
150,000, 000& *0.72% 1,080
SHs Bots | 22 2,002,031 1,902,031 100,000
201 LE2AH| 2,002,031 1,902,031 100,000
02 85244l 2,002,031 1,902,031 100,000
OZ2222 ¢ HAl 802,031
oSHE Hots M2
3,350& %19, 515+ 128 802,031
OAIE&H|S XY 1,200,000
oSS 2oS RN
1,200,000,000& x 14! 1,200,000
S -H. -5 2os A4 450,000 450,000 0
401 A& H|I L E0HY] 450,000 450,000
01 Al&HI 446,760 446,760
OSpis oS &%
315,000, 000& *99.28% 312,732
OENXY Bots &X|
135,000, 000& *99. 28% 134,028
03 A& 20| 3,240 3,240 0
OSeE Bois &3
315,000,000 *0.72% 2,268
OENXY 2ots &X|
135,000,000 *0.72% 9re
24E DIRoA XEHSE &R 30,960 60,960 A30,000
202 04| 960 960 0
01 =2LHAHY] 960 960 0
O2= olRoA ZHE AX| S& XA
20,000& 2P+ 22U« 122 960
401 AlEHIZL L2 0H] 30,000 60,000 A30,000




S ZSAAE D
A CAZEIHE U OHL(RELT AL/ X HLTAI)
el KMEta ZEd TEs £X (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 29,676 59,460 N9, 784
24z DiAtA ZYS Hx
30,000,000 *98.92% 29,676
03 AIZ S THYI 324 540 A216
o2& 2oL 2BS £X
30,000,000 *1.08% 324
WAL AEXNG Jt2s £X 70,000 100,000 /30,000
401 Al HIZL S 0HYI 70,000 100,000 /30,000
01 Al&HI 69,370 99,100 A29,730
OusSAtD XS JIt2s &X
70,000,000 *99. 1% 69,370
03 A2 2 0HYI 630 900 A270
OLSAD ASXY It2S &X
70,000,000& 0. %% 630
S -2 S = 22s uH 50,000 50,000 0
401 AIEHIZ SR OHYI 50,000 50,000
01 Al&HI 49,460 49,460
SIS L3 PoS A
50,000,000 x98.92% 49,460
03 Al 2CHYI 540 540 0
Os8s = 225 uAl
50,000, 0002 *1.08% 540
AT HEIIAE 2,020 2,020 0
201 fer= 3| 1,000 1,000
01 AtR2tc|HI 1,000 1,000
ogegt=gll 1,000
o0l OB 2 EE2=2 S MA
1,000,000 14| 1,000
202 04l 1,020 1,020
01 =LHAHI 1,020 1,020
OO0FtB 2 HAIE X0 04|
85,0003 x2EH *x32 +23] 1,020
A0LE JI2S AIAH ASAIY 250,000 250,000
401 Al HIZ R 0HHI 250,000 250,000
01 AlZ28| 248,200 248,200
OALOIE JIZ2S AIAE A=A
250,000,000 *99.28% 248,200
03 Al 20HHI 1,800 0 1,800
OALIE JIZ2S AIAE 2EAE
250,000, 0002 %0.72% 1,800
CEAYLH FAEE H 15 AtY 36,936 0 36,936
= 22,162
Al 14,774
401 Al HIZ R 0HbI 36,936 0 36,936
= 22,162




S ZSAAE D
A CAZEIHE U OHL(RELT AL/ X HLTAI)
el KMEta ZEd TEs £X (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 14,774
01 Al&H| 3,936 0 3,936
OSZ2IEH AAFA oZel PHAI
36,936,000 36,936
= 22,162
Al 14,774
HH2IB3HI(ZAIHE L) (DIEHIIE) 82,555 93,725 A11,170
elIE =g 16,531 15,399 132
olE =gl 16,531 16,399 132
101 21A4H| 15,531 15,399 132
03 SRA(RIH )22+ 15,531 15,399 132
OAlZt 22+ 15,531
oA Z(AIRH)
20,4302 x2H+20A 2+ 123 9,807
o< bAR(NEH=)
23,8503 1H*20A1 2+ 123 5,724
Jl=23H| 67,024 78,326 11,302
JI=23Hl 67,024 78,326 11,302
201 ger=3| 43,924 46,340 N2,416
01 At 2|l 39,500 41,500 22,000
OYLBtEgH| o A
15,000,000 * 14! 15,000
O2g+g SUALY(NSARE])
100,000 52 »33] 1,500
OSetl SHAY 23,000,000 *14] 23,000
02 S3=gHl 4,424 4,840 A416
OXtg - d9i 4,424
o 7S 1,800&*1,0802 £ 1,944
o XS XAl 480,000& «1& 480
oXtg=elidl, 2YWE, Mt S
2,000,0002 %14 2,000
202 04| 12,300 21,186 N\8,886
01 2K 12,300 13,506 A1,206
ORAMEE SHAIY 12,300,000 * 14! 12,300
203 gF=4| 10,800 10,800
01 D22 HARFA| 6,000 6.000
Od&uE=E 6,000,000 6,000
M EAEZER=A 4,800 4,800 0
OZAHEH(EHS 30H)
400,000 12& 4,800




